;\/ ,i

6eX38X38CH




@M 31

@ . ®k v —

FASTENERS

<

é
7 T

M6%60(12PCS) M6*50(4PCS) M6*35(4PCS) M4*35(16PCS) M4*25(4PCS) M3*18(6PCS)

X4

wy >
i 5

(1s)

=




Assembly Instructions

A

M6*60(12PCS)

M4*35(8PCS) D




S,




